SCHOOL					_		_																		
<u>Degree</u>	Program	Total Grads N		irvey ponse %	full- field or p	ployed time in of study referred field %	par field or p	nployed t-time in d of study preferred field %		ntinuing ucation %		ring in itary %	PLAC	SITIVE CEMENT (a)	time my į	loyed full e outside preferred field %	- pa ou pr	nployed art-time tside my referred field %	PLA	/ERALL CEMENT (b) %	but	mployed seeking loyment %	*Unknown not seeking employment N	Average Annu (c) \$	al Salary N
BUSINESS/	COMPUTER TECHNOLOGIES																								
Bachelor o	f Science (BS)																								
BBF	Business Admin-Banking & Finance	8	4	50.0%	2	50.0%	-	-	-	-	-	-	2	50.0%	2	50.0%	-	-	4	100%	-	-	-	\$36,000	2
ввк	Business Admin-Marketing	7	3	42.9%	2	66.7%	-	-	-	-	-	-	2	66.7%	-	-	-	-	2	66.7%	1	33.3%	-	\$40,000	2
BBM	Business Admin-Management	29	9	31.0%	3	33.3%	-	-	-	-	-	-	3	33.3%	2	22.2%	2	22.2%	7	77.8%	2	22.2%	-	\$55,000	2
BCA	Culinary Arts & Systems	17	11	64.7%	11	100%	-	-	-	-	-	-	11	100%	-	-	-	-	11	100%	-	-	-	\$33,410	8
BDM	Applied Management-Distance	9	4	44.4%	3	75.0%	-	-	1	25.0%	-	-	4	100%	-	-	-	-	4	100%	-	-	-	\$51,833	3
bdt	Technology Management D/O	10	6	60.0%	6	100%	-	-	-	-	-	-	6	100%	-	-	-	-	6	100%	-	-	-	\$84,500	5
BIM	Web and Interactive Media	17	6	35.3%	5	83.3%	-	-	-	-	-	-	5	83.3%	1	16.7%	-	-	6	100%	-	-	-	\$41,862	5
BLA	Paralegal Studies	6	1	16.7%	-	-	-	-	-	-	-	-	-	-	1	100%	-	-	1	100%	-	-	-	-	-
BMA	Applied Management	19	5	26.3%	1	20.0%	1	20.0%	-	-	-	-	2	40.0%	1	20.0%	-	-	3	60.0%	2	40.0%	-	\$42,000	1
BSA	Accounting (traditional)	11	4	36.4%	4	100%	-	-	-	-	-	-	4	100%	-	-	-	-	4	100%	-	-	-	\$51,644	3
btm	Technology Management	3	1	33.3%	1	100%	-	-	-	-	-	-	1	100%	-	-	-	-	1	100%	-	-	-	\$23,040	1
<u>Associate c</u> BA	of Applied Science (AAS) Accounting	3	_	_																					
BK	Baking/Pastry Arts	25	15	60.0%	3	20.0%	1	6.7%	8	53.3%		-	12	80.0%	2	13.3%			14	93.3%	1	6.7%		\$32,480	2
BM	Business Management	16	7	43.8%	3	42.9%	1	14.3%	0	J3.3/0	_	-	4	57.1%	_	13.3/0	1	14.3%	5	71.4%	2	28.6%		\$46,500	3
CY	Culinary Arts Tech	8	4	50.0%	3	75.0%		14.5%			_	-	3	75.0%	Ė		-	14.5%	3	75.0%	1	25.0%		\$32,000	3
HM	Hospitality Management	3	1	33.3%	-	100.0%	_		_		_	-	1	100%	Ė		_		1	100%	_	23.070		\$35,000	1
LA	Paralegal Studies	11	5	45.5%	4	80.0%	_		1	20.0%			5	100%	Ė		_		5	100%				\$26,380	3
LA	i araicgai studies	11	J	TJ.J/0	4	30.070		-		20.070		-		100/0		-		-	,	100/0	H	-	-	320,300	3
	TOTAL	202	86	42.6%	52	60.5%	3	3.5%	10	11.6%	-	-	65	75.6%	9	10.5%	3	3.5%	77	89.5%	9	10.5%		\$44,345	44

SCHOOL						nployed		nployed										nployed					*		
<u>Degree</u>	Program	Total Grads	Re	urvey sponse	field or p	referred field	field or p	t-time in I of study referred field	Co ed	ntinuing lucation	n	erving in military	PLA	OSITIVE CEMENT (a)	time my p	loyed ful e outside preferred field	e ou d p	art-time itside my referred field	PLA	/ERALL CEMENT (b)	but em _l		*Unknown not seeking employment	Average Annu (c)	Ť
		N	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	\$	N
CONSTRUC	CTION/DESIGN TECHNOLOGIES																								
Bachelor (of Science (BS)																								
BCM	Construction Management	26	6	23.1%	5	83%	_	_	_	-	_	-	5	83%	_	_	_	_	5	83%	_	_	1	\$57,000	5
BCT	Civil Engineering Tech	28	11	39.3%	11	100%	-	-	-	-	-	-	11	100%	-	-	-	-	11	100%	† -	-		\$51,220	10
bhv/B	• •																		l		1			, , ,	-
D	Heating, Ventilation & A/C Design Tech	14	4	28.6%	2	50.0%	-	-	-	-	-	-	2	50.0%	-	-	1	25.0%	3	75%	-	-	1	\$57,500	2
	Residential Construction Mgt-Building																								
BRC	Const Tech-CB	16	7	43.8%	7	100%	-	-	-	-	-	-	7	100%	-	-	-	-	7	100%	-	-	-	\$48,286	7
BRM	Residential Construction Tech & Mgt	3	2	66.7%	2	100%	-	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	-	\$50,000	1
																									<u>_</u>
BRA	Architectural Technology Concentration	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
	Building Construction Technology -																								
BRN	Masonry Concentration	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
	Building Science & Sustainable Design:																								
BSD	Architectural	17	4	23.5%	3	75%	-	-	-	-	-	-	3	75%	-	-	-	-	3	75%	-	-	1	\$38,440	3
(d) BST	Building Science & Sustainable Design	2	1	50.0%																					
<u>Associate</u>	of Applied Science (AAS)																								
AT	Architectural Tech	22	7	31.8%	2	28.6%	-	-	3	42.9%	-	-	5	71.4%	1	14.3%	-	-	6	85.7%	1	14.3%	-	\$30,250	2
СВ	Building Construction Tech	44	12	27.3%	9	75.0%	-	-	3	25.0%	-	-	12	100%	-	-	-	-	12	100%	-	-	-	\$51,389	9
	Heating/Ventilation/AC (HVAC) Tech-																								<u></u>
HP	Mech Sys	11	2	18.2%	2	100%	-	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	-	\$50,000	1
	Heating/Ventilation/AC (HVAC) Tech-																								
HV	Refrig.	41	14	34.1%	6	42.9%	-	-	6	42.9%	-	-	12	86%	-	-	-	-	12	86%	-	-	2	\$35,857	6
MN	Building Construction Tech- Masonry	16	2	12.5%	2	100%	-	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	-	\$52,000	2
SU	Surveying Tech	10	2	20.0%	2	100%	-	-	-	-	-		2	100%	-	-	-	-	2	100%	-	-	-	\$40,500	2
CT	Civil Engineering Tech	9	2	22.2%	1	50.0%	-	-	-	-	1	50.0%	2	100%	-	-	-	-	2	100%	-	-		\$50,000	1
Certificate	2																								
PH	Plumbing	3	1	33.3%	_	-	1	100%	-			-	1	100%	_	-			1	100%	Ŀ			-	-
(d) RB	Residential Builder	1	1	100%			-																		
				_										-				_							
	TOTAL	265	78	29.4%	56	71.8%	1	1.3%	12	15.4%	1	1.3%	70	89.7%	1	1.3%	1	1.3%	72	92.3%	1	1.3%	5	\$47,216	52
																								,, -	

SCHOOL						ployed -time in		nployed rt-time in							Emn	oloyed full-		nployed					*Unknown		
<u>Degree</u>	Program	Total Grads		urvey sponse	field or p	of study referred field	field or p	d of study preferred field	ed	ntinuing lucation	m	ilitary	PLA	SITIVE CEMENT (a)	time my I	e outside preferred field	out pr	side my eferred field	PLA	/ERALL CEMENT (b)	but em _l		not seeking employment	Average Annu (c)	·
		N	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	\$	N
HEALTH SCI	IENCES																								
Bachelor of	f Science (BS)																								
BAH	Applied Health Studies	13	6	46.2%	4	66.7%	_	_	_	_	_	_	4	66.7%	2	33.3%	_	_	6	100%	_	_	_	\$65,333	3
57.11.	Applied Health Studies-ER-Emergency			101270		001770							Ė	001770	Ē	33.370			Ů	10070				703,333	
(d) BAE	Services	2	_	-	_	-	_	-	_	-	_	_	-	_	_	-	_	_	_	_	_	_	_	-	-
BAO	Applied Health Studies-OC	9	4	44.4%	4	100%	-	-	_		-	-	4	100%	-		-		4	100%	-	-	-	\$44,250	4
BAR	Applied Health Studies-Rad	8	2	25.0%	1	50.0%	1	50.0%	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	-	\$30,000	1
-	PP																							, ,	
(d) BAG	Applied Health Studies-SG-Surgical Tech	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BDD	Dental Hygiene (D/O)	17	8	47.1%	7	87.5%	1	12.5%	-	-	-	-	8	100%	-	-	-	-	8	100%	-	-	-	\$63,160	6
ВНМ	Dental Hygiene-Health Policy/Admn	14	6	42.9%	6	100%	-	-	-	-	-	-	6	100%	-	-	-	-	6	100%	-	-	-	\$61,333	6
BHI/BD		6	4	66.7%	3	75.0%	-	-	-	-	-	-	3	75.0%	-	-	-	-	3	75.0%	1	25.0%	-	\$49,700	2
(d) BNG	Nursing	2	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
BNS	Nursing - Susquehanna	6	2	33.3%	2	100%	-	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	-	\$81,000	2
BSN	Nursing-Completion (post RN)	15	6	40.0%	4	66.7%	-	-	-	-	-	-	4	66.7%	1	16.7%	1	16.7%	6	100%	-	-	-	\$66,333	3
BGN	Nursing-Traditional	74	42	56.8%	38	90.5%	2	4.8%	-	-	-	-	40	95.2%	1	2.4%	-	-	41	97.6%	1	2.4%	-	\$58,057	29
BPA	Physician Assistant	30	13	43.3%	13	100%	-	-	-	-	-	-	13	100%	-	-	-	-	13	100%	-	-	-	\$93,675	11
(d) BAX	Applied Health Studies	1	1	100%																					
(d) BNA	Nursing	2	1	50.0%																					
	of Applied Science (AAS)				_		_																		
DH	Dental Hygiene	32	16	50.0%	7	43.8%	7	43.8%	1	6.3%			15	93.8%	-	-	-	-	15	93.8%	1	6.3%	-	\$47,000	6
	Emergency Medical Services/Paramedic			22.22/	١.	1000/							١.	4000/					١.	4000/					_
ER	Tech	12	4	33.3%	4	100%	-	-	-	-	-	-	4	100%	-	-	-	-	4	100%	-	-	-	\$43,485	4
XS	Exercise Science	6	3	50.0%	-	-		-	2	66.7%	-	-	2	66.7%	1	33.3%	-	-	3	100%	-	-	-	422.222	
HN	Health Arts-Practical Nursing	35 38	11	31.4%	6	54.5%	1	9.1%	2	- 40.50/	-	-	7	63.6%	-	-	-	- 40.50/	7 17	63.6%	2	36.4% 10.5%	-	\$38,833	6
HI	Health Information Tech		19	50.0%	10	52.6%	-	-		10.5%	-	-		63.2%	3	15.8%	2	10.5%		89.5%		10.5%	-	\$33,233	7
NR	Nursing	43	15	34.9%	15	100%	-	- 14 20/				-	15	100%	-		-	7.10/	15	100%	-		-	\$57,652	13
OC RD	Occupational Therapy Asst.	26 21	14 9	53.8% 42.9%	6 3	42.9% 33.3%	4	14.3%	1	7.1%	-	-	9	64.3%	- 1	22.2%	1	7.1%	10 9	71.4%	2	14.3%	2	\$52,630	5
SG	Radiography Surgical Tech	14	4	28.6%	4	100.0%	-	44.4%	-	-	-		4	77.8% 100%	2	22.2%	-	-	4	100%	H			\$40,000 \$37,630	<u>3</u>
30	Surgical recii	14	4	26.0%	4	100.0%							4	100%	-				4	100%	<u> </u>			\$37,030	
<u>Certificate</u>																									
(d) MR	Magnetic Resonance Imaging	1	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-
(d) HL	Health Information Coding Specialist	2	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	_	-	-	-	-	
(d) PE	Paramedic Technician	2	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	T -	-	-	-	-
	TOTAL	432	190	44.0%	139	73.2%	18	9.5%	6	3.2%	_		163	85.8%	10	5.3%	4	2.1%	177	93.2%	11	5.8%	2	\$56,775	115
	TOTAL					, 0,0		0.0,3	_	0,3				30.0,0		0.0,5		,3		30.270		0.0,0	_	750,775	

Oegree	Program	Total Grads		survey esponse	full- field or p	ployed time in of study referred field	part field or p	ployed :-time in of study referred field		ntinuing ucation	Serving militar	in P	POSI LACE (a	MENT	time my p	oyed full outside referred field	pa out pre	nployed int-time iside my eferred field		/ERALL CEMENT (b)	but	mployed seeking sloyment	*Unknown not seeking employment	Average Annu (c)	ual Sala
		N	N	%	N	%	N	%	N	%	N %	N	N	%	N	%	N	%	N	%	N	%	N	\$	N
OUSTRIA	L, COMPUTING, & ENGINEERING	TECHN	VOLC	GIES																					
Sachelor of	f Science (BS)																								
BAT	Applied Technology Studies	5	2	40.0%	1	50.0%	_	_	_	_		1	1 !	50.0%	1	50.0%	_	_	2	100%	_	_	_	_	_
BBT	Building Automation Technology	22	11	50.0%	10	90.9%	-		_	_		1		90.9%	-	-	-	_	10	90.9%	1	9.1%	_	\$58,000	10
BEE	Electronics/Computer Eng Tech	17	5	29.4%	3	60.0%	_	_	_	_		- 3		60.0%	_	_	_		3	60.0%	2	40.0%	_	\$40,692	3
BEN	Engineering Design Technology	22	7	31.8%	7	100%	_	_	_	_		+		100%	-	_	_	_	7	100%	-	-	_	\$43,743	7
DEIN	Engineering Besign recimology			31.070		10070						+		100/0					<u> </u>	10070				Ş +3,7+3	
BCS	Information Assurance & Cyber Security	9	5	55.6%	4	80.0%	_	_	_	_		_	1 8	80.0%	_	_	_	_	4	80.0%	1	20.0%	_	\$65,750	4
	Information Tech Sci-Gaming &			33.070		00.070								30.070						001070	_	20.070		ψ03,730	
BGS	Simulation	16	6	37.5%	3	50.0%				_		1 3	2 1	50.0%	1	16.7%	2	33.3%	6	100%	_	_	_	\$64,000	3
BNW	Information Tech-Network Specialist	15	5	33.3%	2	40.0%	1	20.0%				3		60.0%	1	20.0%	-	-	4	80.0%	1	20.0%	-	\$61,000	2
BAF	•	32	14	43.8%	14	100%		20.0%	_			1		100%	1	20.0%			14	100%		20.0%		· ·	
BPS	Manufacturing Engineering Tech	32	10			90.0%	-		_	-		1			-	-	-		9		1			\$53,469	14
	Plastics/Polymer Engineering Tech			31.3%	9									90.0%	-				·	90.0%	1	10.0%		\$62,438	8
BSI	Software Dev & Info Management	13	6	46.2%	6	100%	-	-	-	-		6		100%	-	-	-	-	6	100%	-	-	-	\$59,500	6
BWE	Welding/Fabrication Engineering Tech	56	33	58.9%	28	84.8%	-	-	2	6.1%		3		90.9%	2	6.1%	-	-	32	97.0%	1	3.0%	-	\$63,419	26
BID	Industrial and Human Factors Design	8	6	75.0%	2	33.3%	-	-	-	-		2	2 :	33.3%	2	33.3%	-	-	4	66.7%	2	33.3%	-	\$23,419	2
Associate o	of Applied Science (AAS)																								
AF	Automated Manufacturing Tech	15	5	33.3%	4	80.0%	1	20.0%	_	_			5	100%	_	_	_	_	5	100%	_	_	_	\$56,390	4
EL	Electrical Tech	35	11	31.4%	5	45.5%	-	-	5	45.5%		1		90.9%	_		1	9.1%	11	100%	_	-	_	\$50,054	5
LL	Electromechanical Maint Tech/Ind Maint		11	31.470	,	43.370			,	43.370		- 1	.0 .	30.370	_			3.170	11	10070	_			\$30,034	3
MT	Tech	15	5	33.3%	4	80.0%	-	_	_	_		_	4 8	80.0%	_	_	1	20.0%	5	100%	_	-	_	\$60,000	3
	Electronics Tech-Comp Tech-																							400,000	
RO	Robotics/Bldg Automation Core	13	4	30.8%	2	50.0%	_	_	_	_		1 2	, ,	50.0%	_	_	_	_	2	50.0%	2	50.0%	_	\$47,000	2
EN	Engineering CAD Technology	16	8	50.0%	6	75.0%			1	12.5%				87.5%					7	87.5%	1	12.5%		\$44,630	6
LIN	Information Technology-Technical	10	- 0	30.070	_	73.070				12.5/0		+	, ,	37.370	_				<u> </u>	67.570	-	12.5/0		\$44,030	0
TU	Support	10	2	20.0%	1	50.0%	_	_	1	50.0%		1 2	,	100%	_	_	_	_	2	100%	_	_	_	\$32,000	1
	iviacnine rooi recnnology/rooimaking	10		20.070	<u> </u>	30.070				30.070		+	_	100/0					É	100/0				732,000	
MY	Tech	20	2	10.0%	1	50.0%	-	-	1	50.0%		2	2	100%	-	-	-	-	2	100%	-	-	-	\$53,560	1
d) PS	Plastics/Polymer Tech	1	1	100%								1												, ,	-
RE	Renewable Energy Technologies	9	4	44.4%	1	25.0%	-	-	2	50.0%		- 3	3	75.0%	-	-	_		3	75.0%	1	25.0%	-	-	_
WA	Welding Tech	38	8	21.1%	5	62.5%	_		2	25.0%		+		87.5%	-	_	_	_	7	87.5%	1	12.5%	-	\$56,025	4
****	Electronics and Computer Engineering	30		21.1/0	Ť	32.370				_5.070		+	•	37.370					<u> </u>	37.370	-	12.3/0		730,023	
d) EE	Technology	2	_		١.	_	_		_	_		1	_	_	١.	_	_	_	١.	_	١.	_	_	Ι.	_
MH	Mechatronics Engineering Technology	11	2	18.2%	2	100%	-	-		=		-)	100%	H			=	2	100%				\$50,000	2
IVIH	wechatronics Engineering Technology	11	2	10.2%		100%	-	-	-	-				100%	_	-	-	-		100%	<u> </u>	-		\$50,000	
<u>Certificate</u>																									
EO	Electrical Occupations	7	3	42.9%	2	66.7%	-	-	_	-		2	2 (66.7%	-	-	_	-	2	66.7%	1	33.3%	-	\$36,500	2
IE	Applied Innovation Leadership	3	1	33.3%	1	100%	-	-	-	-				100%	-	-	_		1	100%	-	-	-	\$50,000	1
d) MG	Machinist General	2	1	50.0%	Ť							+		/-					Ė					Ç30,000	
d) WE	Welding	1		-	<u> </u>		_					+		_	<u> </u>				-		Η-		-	-	
u, **L																									
	TOTAL			27.50/	400	72 70/	-	1.2%	4.5	0.00/		1/	10	83.8%	7	4.2%	5	3.0%	450	91.0%	15	9.0%		\$55,486	116

SCHOOL					full	iployed -time in of study	par	nployed t-time in					PC)SITIVE		oloyed full	- pa	nployed art-time tside my	0)	/ERALL	Une	mployed	*Unknown not		
Degree	Program	Total Grads		urvey sponse	or p	referred field	or p	referred field	Cor	ntinuing ucation		ving in litary	PLA		my	preferred field	pr	referred field		CEMENT (b)	but	seeking	seeking employment	Average Annu (c)	ual Salary
<u>Degree</u>	riogiani	N	N	sponse %	N	meiu %	N	meiu %	N	wcation %	N	11tary %	N	(a) %	N	meiu %	N	w	N	(b) %	N	%	N	ś	N
																								·	
CCIENCEC	LUIDAANUTIES R VISUAL CONANALI	NICATI	ONC																						
SCIENCES,	HUMANITIES, & VISUAL COMMUI	VICATI	UNS																						
Bachelor o	of Science (BS)																								
BEM	Emergency Management Technology	10	7	70.0%	3		2	28.6%	-	-	-	-	5	71.4%	1		1	14.3%	7	100%	-	-	-	\$54,000	1
BGD	Graphic Design	19	3	15.8%	2	66.7%	-	-	-	-	-	-	2	66.7%	1	33.3%	-	-	3	100%	-	-	-	\$36,000	1
BHS	Applied Human Services	9	6	-	2	33.3%	2	33.3%	1	16.7%	-	-	5	83.3%	-	-	1	16.7%	6	100%	-	-	-	\$32,258	2
	of Arts (AA)																								
GS	General Studies	3	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
(d) <u>SD</u>	Studio Arts	2	-	-																					
Associate	of Applied Arts (AAA)																								
AR	Advertising Art	5	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_	_
7.11	//dvertising/ite																								
Associate	of Applied Science (AAS)																								
EC	Early Childhood Education	14	2	14.3%	1	50.0%	-	_	1	50.0%	-	-	2	100%	-	_	-	_	2	100%	-	_	-	-	-
HS	Human Services	8	4	50.0%	2	50.0%	2	50.0%	-	-	-	-	4	100%	-	-	-	-	4	100%	-	-	-	\$21,750	2
IS	Individual Studies	4	1	25.0%	-	-	-	-	1	100%	-	-	1	100%	-	-	-	-	1	100%	-	-	-	-	-
	TOTAL	74	23	31.1%	10	43.5%	6	26.1%	3	13.0%			19	82.6%	2	8.7%	2	8.7%	23	100%	_	-		\$33,003	6

SCHOOL																									
<u>Degree</u>	Program	Total Grads		urvey sponse	full field or p	ployed -time in of study referred field	part field or p	nployed t-time in I of study preferred field		ntinuing ucation		rving in nilitary	PLA	SITIVE CEMENT (a)	time my p	loyed full e outside oreferred field	- pa out pr	nployed irt-time iside my eferred field		VERALL CEMENT (b)	but	employed seeking ployment	*Unknown not seeking employment	Average Annu (c)	ual Salary
		N	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	\$	N
TRANSPOR	TATION & NATURAL RESOURCES	TECHN	IOLO:	GIES																					
Bachelor of	Science (BS)																								
BAU	Automotive Technology Management	21	7	33.3%	6	85.7%	-	-	-	-	-	-	6	85.7%	-	-	-	-	6	85.7%	1	14.3%	-	\$38,840	5
BAV	Aviation Maintenance Technology	13	5	38.5%	4	80%	-	-	-	-	-	-	4	80%	-	-	-		4	80%	-		1	\$59,500	4
	Automotive Technology Management																								
(d) BAM	(D/O)	2	1	50.0%																					
	of Applied Science (AAS)	•				1000/								4000/						4000/					
AD	Aviation Technology	9		11.1%	1	100%	-		-	-	-	-	1	100%	-	-	-	-	1	100%	-		-	\$130,000	1
AH	Automotive Technology- Honda PACT	3	2	66.7%	2	100%	-	-	-	- 22.20/	-	-	2	100%	-		-		2	100%	-		-	\$33,800	2
AU	Automotive Technology-general	60	15	25.0%	6	40.0%	-	-	5	33.3%	-	-	11	73.3%	1	6.7%	1	6.7%	13	86.7%	1	6.7%	1	\$38,800	5
CG CH	Automotive Technology- Mopar	6 14	3	50.0% 28.6%	3 4	100%	-		-	-	-	-	3	100%	-	-	-	-	3 4	100%	-	-	-	\$26,667 \$45,565	3
CR	Heavy Construction Equip Tech-CAT Collision Repair Technology	14	5	35.7%	2	40.0%	1	20.0%	2	40.0%	_	-	5	100%	Ė				5	100%	<u> </u>	-		\$45,565	2
DD	Diesel Technology	46	12	26.1%	11	91.7%	1	20.0%		40.0%	-	-	11	91.7%	1	8.3%	-		12	100%	l -			\$40,525	11
(d) DX	Diesel Technology Diesel Technology	2	- 12	20.176	11	91.770						-	11	91.770	1	0.370			12	100%	-			340,323	11
FA	Automotive Technology- Ford ASSET	5	1	20.0%	1	100%	_				_	-	1	100%	H				1	100%	_			\$24,000	1
FR	Forest Tech	22	8	36.4%	3	37.5%	_	_	-		_	-	3	37.5%	3	37.5%	_	_	6	75.0%	2	25.0%	_	\$37,333	3
	Heavy Construction Equip Tech-														Ť						Ħ			ψ37,000	
HE	Technician Emphasis	30	7	23.3%	6	85.7%	_	-	_	-	_	-	6	85.7%	1	14.3%	_	-	7	100%	-	-	-	\$46,613	6
-	Heavy Construction Equip Tech-														l						l				
HY	Operator Emphasis	37	14	37.8%	13	92.9%	-	-	-	-	-	-	13	92.9%	1	7.1%	-	-	14	100%	-	-	-	\$47,500	12
	Ornamental Horticulture-Landscape																								
LE/OD	Tech	17	4	23.5%	4	100%	-	-	-	-	-	-	4	100%	-	-	-	-	4	100%	-	-	-	\$31,625	2
(d) LN	Landscape/Nursery Technology	1	-	-																					
<u> </u>	Landscape/Ornamental Horticulture-																								
OH/LP	Plant Production	14	1	7.1%	1	100%	-	-		-	_	-	1	100%	-	-	-	-	1	100%	-	-	-	\$31,200	1
PW	On-Site Power Generation	13	2	15.4%	1	50.0%	-	-	1	50.0%	-	-	2	100%	-	-	-	-	2	100%	-	-	-	\$35,360	1
RS	Automotive Restoration	11	2	18.2%	2	100%	-	-	-	-	-	-	2	100%	-	-	-	-	2	100%	-	-	-	\$25,000	1
Certificate	A describe Control Tradestate	4		4000/																					
(d) AM	Automotive Service Technician	1	1	100%									_		!				-		 				
(d) DC	Diesel Technician	1	-	-	-	-	-	-	-	-	-	-	-	-	<u> </u>	-	-	-	-	-	-	-	-	-	-
							_																		
	Total	342	95	27.8%	71	74.7%	1	1.1%	8	8.4%	1	1.1%	81	85.3%	7	7.4%	1	1.1%	89	93.7%	4	4.2%	2	\$42,717	65
	i otal	J72	-,,	_,.0,0		7-1.770		111/0	-	U1-7/0	-	111/0	01	03.370		71-770		111/0	35	33.770	_	7.2/0	_	Y-12,111	- ,,

<u>egree</u> Program	Total Grads		urvey sponse	full- field or p	ployed time in of study referred field	par field or p	nployed rt-time in d of study preferred field	/ I Co	ntinuing ucation		rving in iilitary	PLAC	SITIVE	time my p	oyed ful outside referred field	l- pa out pre	rt-time side my eferred field	PLAC	ERALL CEMENT (b)	but	mployed seeking oloyment	*Unknown not seeking employment		erage Annı (c)	ıal Salar
	N	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N		\$	N
				-										<u>-</u>				-		_			-		
							4.00/	- 4	0.50/			-20	84.2%	26	5.6%	16	2.5%	F00	92.3%	40	6.3%	9	s	51,122	398
COLLEGE TOTAL BY DECREES AWARDED	1760		26 20/	1 AE1																					
COLLEGE TOTAL BY DEGREES AWARDED	1760	639	36.3%	451	70.6%	31	4.9%	54	8.5%	2	0.3%	538	84.2%	30	3.076	10	2.5/0	330	32.3/0	70	0.370	<u> </u>	Ą	31,122	330
COLLEGE TOTAL BY DEGREES AWARDED	1760	639	36.3%	451	70.6%	31	4.9%	54	8.5%		0.3%	538	84.2%	30 	3.0%	10	2.3/0	1 330	32.370		0.370	9	·	J1,122	330
COLLEGE TOTAL BY DEGREES AWARDED COLLEGE TOTAL BY HEADCOUNT			36.3%										85.0%						93.4%			9	\$		
																							\$		
COLLEGE TOTAL BY HEADCOUNT																							\$		
COLLEGE TOTAL BY HEADCOUNT SUBTOTALS BY DEGREE LEVEL	1676	614	36.6%	429	70.9%	30	5.0%	53	8.8%	2	0.3%	514	85.0%	36	6.0%	15	2.5%	565	93.4%	40	6.6%	9	\$	51,244	376
COLLEGE TOTAL BY HEADCOUNT SUBTOTALS BY DEGREE LEVEL Baccalaureate	1676	614 323	36.6%	429 259	70.9%	30	5.0% 3.1%	53	8.8% 1.2%	2	0.3%	514 274	85.0% 84.8%	36	6.0% 6.2%	15	2.5%	565	93.4% 93.5%	40	6.6% 5.3%	9	\$	51,244 56,569	376 226
COLLEGE TOTAL BY HEADCOUNT SUBTOTALS BY DEGREE LEVEL	1676	614	36.6%	429	70.9%	30	5.0%	53	8.8%	2	0.3%	514 274	85.0%	36	6.0%	15	2.5%	565	93.4%	40	6.6% 5.3%	9	\$	51,244	376
COLLEGE TOTAL BY HEADCOUNT SUBTOTALS BY DEGREE LEVEL Baccalaureate	1676	614 323	36.6%	429 259	70.9%	30	5.0% 3.1%	53 4 49	8.8% 1.2%	2 1 1	0.3%	514 274 257	85.0% 84.8%	20 16	6.0% 6.2%	15	2.5%	565	93.4% 93.5%	40	6.6% 5.3%	9	\$	51,244 56,569	376 226

Notes:

- (a) Positive Placement includes all graduates employed in field of study or preferred field (full-time and part-time), continuing education (full-time and part-time), or serving in the military.
- (b) Overall Placement includes all graduates with positive placement AND all graduates employed in an unrelated field.
- (c) Salaries displayed are self-reported annual full-time salaries for those employed full-time in field of study or preferred field and may not be starting salaries.
- (d) Salary and placement data for programs with fewer than three graduates is not disclosed at the program level (to protect the confidentiality of the graduate). It is reported in aggregated form where it applies.

Program codes in lower case are majors that have been phased out or revised.

^{*} Graduates who selected, "Unemployed and choosing not to seek employment" or who didn't provide a status (unknown) are not calculated into placement rates.